STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 1 Car No:
Driver: Navigator:
CRO [Coloured roads only] Novices/Beginners

From TCl at MR  WSW721108ENE, proceed to TC2 at MR SW736148NE via the
following information. [TR = Turn Right, TL = Turn Left, SO = Straight On, ML = Miss
a Left, MR = Miss a Right],

TR TR TL TR TL TL TR TR TR ML ML

Start time

Finish time

Time allowed 8 minutes

Time penalties

Question Question Answer Marks
No / Value
57
1 What is the first spot height @ 728122%
[2 marks] passed.?
2 What is the name of the 3" farm | Noakes Fm
[2 marks] [Fm] that you pass? @ 745%140
Marks Time
Total
Penalties




STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 2 Car No:
Driver: Navigator:
CRO [Coloured Roads Only] Novices/Beginners

From TC2 at MR SW736148NE proceed to TC3 at MR SE766175NW crossing the
following grid lines in order,

15 16 74 16 16 75 16 76 77 16 77 17

Start time

Finish time

Time allowed 9 minutes

Time penalties

Question Question Answer Marks
No
3 What is the total of number 23
[2 marks] green dots passed?
4 What is the map reference of 764%2150
[2 marks] the nearest Windmill?
3
5 How many churches with spires | @ 738%2155Y2
[2 marks] within 3/10 mile of the route? & 773Y4148Y4
& 768168
Marks Time
Total
Penalties




STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 3

Driver:

Navigator:

Car No:

CRO [Coloured Roads Only]

Novices/Beginners

From TC3 at MR SE766175NW, proceed to TC4 at MR NE732165WSW by leaving
junctions travelling in the following directions,

SW WSwW NE SSW SSW ESE SSW SW
Start time
Finish time
Time allowed 6 minutes
Time penalties
Question Question Answer Marks
No
6 What is the map reference of 737%4191%
[2 marks] most Northern most junction?
0
7 How many Phones actually 750179 does not
[2 marks] touching the route? actually touch the
road
Marks Time
Total
Penalties




STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 4 Car No:
Driver: Navigator:
WUW [Will use white roads] Novices/Beginners

From TC4 at MR NE732165WSW, proceed to TC5 at MR N706162SSW via following
map references, in order.

SW723%165NW NNW717170%W

Start time

Finish time

Time allowed 4 minutes

Time penalties

Question No | Question Answer Marks
3

8 How many times do you | 728157 %

[2 marks] cross over water? 719 ¥4 168 V4
715182

You go through water and
not over it at 731%2157

120
9 Total of all spot heights 56 @ 712 %, 178
[2 marks] passed? 64 @ 706164
10 What building is on the Church with spire
[2 mark] 8" coloured junction? @ 719167%
[roundabout = 3
junctions]
Marks Time

Total
Penalties




STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 5

Driver:

Navigator:

Car No:

WUW [Will use white roads]

Novices/Beginners

From TC5 at MR N706162SSW, proceed to TC6 at MR NNE687168SSW via the
following information that will be found printed on or touching the correct route

6 Ch 5 1 2 green dots ho 8 green dots
phone 2 green dots 71 2 green dots 1 ttl
Start time
Finish time
Time allowed 9 minutes
Time penalties
Question Question Answer Marks
No
2
11 How many alcohol related PH @ 698173
[2 marks] buildings within 2/10 mile of the | Brewery @t
route? 687175Y
39
12 What is the second spot height | @ 689174%4
[2 marks] passed?
Marks Time
Total
Penalties




STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 6 Car No:

Driver: Navigator:

wuw Novices/Beginners

From TC6 at MR NNEG687168SSW, proceed to TC7 at MR SSE646162NNW via the following grid
squares in order, [the lines show the roads to use entering and leaving the grid square].

L] | ECR N

S N P S O W ¢

T L
™
L L

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question No | Question Answer Marks
13 How many coloured junctions 10
[2 marks] negotiated?
14 What is the total distance travelled on 1/10 to nearest
[2 marks] an ‘A’ class road [to nearest 1/10"
mile]?
3
15 How many bridleways that adjoin the @ 682%,163
[2 marks] route? @ 669% 55
[exclude Essex Way] @ 664150
Marks Time
Total
Penalties




STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 7 Car No:
Driver: Navigator:
CRO Novices/Beginners

From TC7 at MR SSE646162NNW, proceed to TC8 at MR NE618%159SSW via the
following road junction tracings. Approach the junction from the dot and leave in the
direction of the arrow.

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question Question Answer Marks
No
16 What is the map reference of 632166%
[2 marks] the nearest water tower?
3
17 How many times do you cross @ 620180
[2 marks] grid line 627 @ 620165
@ 620161
Marks Time
Total
Penalties




STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 8 Car No:
Driver: Navigator:
CRO Novices/Beginners

From TC8 at MR NE618%159SSW, proceed to TC9 at MR W622132%ESE via the
following spot heights,

62 74 55 53 64

Start time

Finish time

Time allowed 5 minutes

Time penalties

Question Question Answer Marks
No

5 spots heights
18 Total of all spot heights? were in the clue =
[2 marks] 308
19 What is the map reference Ford @ 617122V,
[2 marks] where you would get wet feet?

5
20 How many different grid squares | 6115, 6114, 6113
[2 marks] do you enter and/or exit? 6112, 6213

Marks Time
Total
Penalties




STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 9 Car No:
Driver: Navigator:
Wwuw Novices/Beginners

From TC9 at MR W622132%ESE, proceed to TC10 at MR SW644124NE via the
following which are colours of all the roads when viewed from the centre of the
junction, for example YYY is a junction of a yellow road with another yellow road.
The first letter denotes the colour of the road you are on and last the colour of the
road on which you leave. For example YRR is approach on the yellow road and leave
the junction travelling on a red. For this clue you always need to look a few junctions
on to make sure the route works.

yyy YYYY yRR RYR RRY YYY YYy vyyy

Start time

Finish time

Time allowed 6 minutes

Time penalties

Question Question Answer Marks

No
18

21 How many grid lines do you 63,13,63,12,62,11,

[2 marks] Cross? 62,63,63, 63,11,63
12,63,12,64,12,12,
Can

22 Name of the first river you @ 621%2115%

[2 marks] Cross? & @ 628v4113
Marks Time

Total

Penalties




STAN’S TABLE TOP RALLY -17th AUGUST 2006

Section 10 Car No:
Driver: Navigator:
CRO Novices/Beginners

From TC10 at MR SW644124NE proceed to TC11 at SE680115 via the following herringbone in the
direction of the arrow. From the dot, if the first line is on the left you must not turn left, which is
either straight on or if the junction is on the right, to not turn left means you must turn right. A line
straight across is a cross road where you must not turn left or right, in other words go straight on, if
it was an upturned V on the right, this means do not turn right twice so you turn left.

— L1 11

Start time

Finish time

Time allowed 7 minutes

Time penalties

Question No | Question Answer Marks
6
23 Number of places of religious 644128 Y2
[2 marks] significance within 4/10" 6512 118 %
mile of the route 660v4 118 ¥4

668% 116 ¥4
669% 096 Y2

685089
2
24 How many times do you cross contour | @ 665%105
[2 marks] line 50? @ 685%2102
25 What is the total number of coloured 92
[2 marks] junctions on the route from TC1 to
TC11 [roundabout = 3]?
Marks Time

Total
Penalties
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